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1. #include <iostream>

2. int main() // function main begins program execution

3. {

4. std::cout << "Welcome to C++I\n"';

5. return O; // indicate that program ended successfully

6. }
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1. #include <iostream>
2. using std::cout; // program uses cout

3. int main() // function main begins program execution

4. {

5 cout << "Welcome to C++I\n";

6. return O; // indicate that program ended successfully
7.}
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Cin >>box;
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Questions: write a program which add, subtract and divide two integer numbers
and show the result for three arithmetic operations as an output for the program.
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Questions1: write a program which add, subtract and divide two integer numbers
and show the result for three arithmetic operations as an output for the program.
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#include <iostream>

int main ()
{
int integerl; // Js¥I adydl i) ds Ll pwl
int integer2; // _SUdl abydl goissd o ledl pwl
int sum, sub; [/ Al e eabilly a3l a5L5 L ooddiw gl aslull awl
float div; //asums stuel LaSls ,bes ¥ Lewdldl g 4upde oldad 4 goidl Lidas

std::cout << "Enter first integer\n";//pi, JLoY Llu, awibwll «lhed
std::cin >> integerl; [/ 83extl aslull g adydl JLsoY

std::cout << "Enter second integer\n"; //a3, JsoY Dluy pastell e lhaed
std::cin >> integer2; /] 53smtl aslull g oyl JLsoY

sum = integerl + integer2; // goad! Ldaxy plail]
sub integerl - integer2; //g bl idaxy ploill
div = integerl / integer2; // 4swildl Ldaxo aloild

std::cout << "Sum is " << sum << std::endl; //gad! p5L5 de il
std::cout << "sub is " << sub << std::endl; // bl x5l dc Lyl

std::cout << "div is " << div << std::endl; // Lewill 55 ie Ly

return 0; // indicate that program ended successfully

} // end function main
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Enter first integer
¢

Enter second integer
]
Sum is ¢
sub is -1
div is 0.8
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Questions2 : Write a C++program to read two integers (first and second), and
two real numbers (third and fourth), then calculate the value of:

Resultl = 7 first”3 + second”2

Result2 = (third”2 - fourth)”(1/2)

third - fourth
Your program should print the values of Result1 and Result2.
Note: 2”3 means the number 2 is raised to the power of 3.

Omde GnAl g lasaua (e JAIL a g8 CH+ J) Aady el 4US Gigllaal) oY Jlad) -

A Dslaal) (Gaadali 9 Guasaaall Guaand) Ao oY) ddataad) gaadaty Talial) a sl &) g
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Resultl = 7 first”™3 + second”?2

Result2 = (third"2 - fourth)"(1/2)

third - fourth
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Solution:

#include <iostream>
#include <math.h>

void main ()

{

int first, second, Resultl;
float third, fourth, Result2;

cout<<"enter the first number"<<endl;
cin>>first;

cout<<"enter the second number"<<endl;
cin>>second;

Resultl = 7* pow(first,3) + pow(second,?2);
Cout<<"the resultl is"<<Resultl<<endl;
Cout<<"enter the third number"<<endl;
Cin>>third;

Cout<<"enter the fourth number"<<endl;
Cin>>fourth;

Result2 = pow(pow(third,2) - fourth,1/2)/ (third - fourth);
Cout<<"the result?2 is"<<Result2<<endl;

#include <math.h> il @ Uoedsiw! @ db>do
Lol ¢ Lgdoyzd axdd LSAl odn (o gp g Ppow Liodsiwl LY

3yl aSxadl Ll gdg plo gl wll @ dodaiwll oLSSAl e Joidl o=l o
/http://www.cplusplus.com gl gl _wld 251 331 2311 |da

Question 3: write a program in C++ that accept a Fahrenheit
temperature and output the equivalent Celsius temperature.

And the equation as follow:
Celsius=9/5 (Fahrenheit-32)
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Celsius=9/5 (Fahrenheit-32)

Solution:
#include <iostream>

void main ()

{
float Celsius, Fahrenheit;

cout<<"please enter the temperature in Fahrenheit\n ";
cin>>Fahrenheit;

Celsius=9/5* (Fahrenheit-32)

Cout<<" the temperature in Celsius is "<<Celsius<<endl;

Question 4:write a complete C program that ask the user to enter
three integer number and store them in three variable k,L,and M.The
program should find the value of N according to the following
formula.

N=K+L-3M.

SOLUTION:
#include <iostream>

void main ()

{
int K,L,M,N;

cout<<"please enter the value of K"<<endl;
cin>>K;
cout<<"please enter the value of L"<<endl;
cin>>L;
cout<<"please enter the value of M"<<endl;
cin>>M;

N=K+L-3*M;

cout<<"the wvalue of N is"<<N<<endl;

}
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if ,if/else, else if =

Switch =
do while =
while =
for =

break ,continue =
function =
arrays ®

-1 if if/else, else if 7 & Jgbibia gl )l () b
if (expression) {

do the code inside the two brackets;
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QUESTIONS: write program using C++ that accept two number and give
the relationships they satisfy.



Answer: -
1. #include <iostream>

2. using std::cout; // program uses cout
3. using std::cin; // program uses cin
4_ using std::endl; // program uses endl

5. int main()

6. {

7. int numl; // first number to be read from user
8. Int num2; // second number to be read from user

9. cout << "Enter two integers, and I will tell you\n"
10. << "the relationships they satisfy: ";

11. cin >> numl >> num2; // read two integers

12. if ( numl == num2 )
13. cout << numl <<

is equal to " << num2 << endl;

14. ifT ( numl = num2 )
15. cout << numl << " is not equal to " << num2 << endl;

16. ifT ( numl < num2 )
17. cout << numl << " is less than " << num2 << endl;

18. if ( numl > num2 )
19. cout << numl <<

is greater than << num2 << endl;

20. if ( numl <= num2 )
21. cout << numl << " is less than or equal to "
22. << num2 << endl;

23. if ( numl >= num2 )

24. cout << numl << " is greater than or equal to "

25. << num2 << endl;

26. return O; // indicate that program ended successfully
27. } // end function main
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Enter two integers, and I will tell you
the relationships they satisfy:

4

5

¢ is not equal to 5

¢ is less than 5

¢ is less than or equal to 5

Lif Jelse O SR g if Y Asailly 3 ) gual) cuaa g 88 0 6<5 ()) g2
if/else :\ili

if (expression) {
code inside if;

}

else {
code inside else;

}

Wil Lag if J) a iall Jglady da ) (38ay a1 030 W jiay if J) pladiad Mo ilad) B Jaad
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error @H 1 & hello A&l Lfb @h Y ?EJ ?M‘ BECIRRY ,LA§J JAn o ed&ﬁu&d\
ki 3 5& | hello puhall ¥ addiouall Alial o) a8 1) S 13 Ad Al Jraie L) LA Jaad,
eeea IS alipal) G gSiu g error gkl

#include <iostream>

using std::cout; // program uses cout
using std::cin; // program uses cin

// Tunction main begins program execution
int main()

{

int numl; // first number to be read from user

cout << "Enter the integer number \n';
cin >> numl; // read the integer

it ( numl == 3)
cout<<"hello";

else
cout<<"error';

return O; // indicate that program ended successful

} /7 end function main
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else if ;G
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iIf (expression) {
do the code inside if;

}

else if (expression) {

do the code inside else if;

}

else if (expression) {
do the code inside else if;

by

else {
do the code inside else;

by
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1- #include <iostream>

2- int main()

3- {

4- int numl,num2;

5- cout<<"please enter two integer numbers";
6- cin >> numl >> num2 ;



7- if (numl > num2 ) {

8- cout << "The numberl is bigger than number2" ;
9- 1}

10- else if (num2 > numl)

11- cout << "The number2 is bigger than numberl" ;
12- }

13- else if ( num2=numl) {
14- cout << "there is no bigger number" ;}

15- else { cout << "error" ; }

16- return O;
17- }
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Questionl: write a program that reads an integer and determine whether it is odd or
even. (Hint: use the modulus operator .an even number is a multiple of two. any
multiple of two leaves a reminder of zero when divide by 2).

222l 138 IS 1) BasT g saa e Jaals a 58y CHHJ) 4ad alaaidy el AU, o8 Js¥1 Jl sl
05 Y o audy s ) e )y dall A claclual 0f andinl iadaadl) s ) al g3 3o maaall
()i Wil 3L
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#include <iostream.h >
int main ()

{

int number ;

cout << " please enter the number : " ;
cin >>number ;

if (number % 2==0)
cout <<" \n The number is even" ;

else (number % 2==1)
cout << "\n The number is odd " ;

return O ;

}

Questions2 :write a program that inputs one five digit number, separates the number
in to individuals digits and prints the digits separated from one another by three
spaces each .(hint :use combinations of integer division and the reminder operation)

Example: enter a five digit number: 12345
1 23 45
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Example: enter a five digit number: 12345
1 2345

#include <iostream.h >
int main ()

{

int number,num1,num2,num3,num4,num5 ;

cout << " please enter a number with five digit: " ;
cin >>number ;

number =number%10000;
numl= number/10000;

number =number%1000;
num2= number/1000;

number =number%100;
num3= number/100;

number =number%10:;
num4= number/10;

num5= number;

cout<<numil<</t<<num2<</t<<num3<</t<<numdé<</t<<numb5<<endl;

return O ;

}
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switch (aiu,lio >l juioll wisy L) {
case oVl 4, lanll wisi Ld: do the following code ;

case aulll 4, lanll S Ld: do the following code ;

default: do the following code;

}
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1- #include <iostream>
2- int main()
3- {
4- int number;
5- cout << "Enter Number:\t"
6- cin >> number;

7- switch (number) {
8- case '1l':

9- cout<<"one";
10- break;

ll-case '2':

12- cout<<"two";
13- break;

l4-case '3':

15- cout<<'"three";
16-break;

17-case '4':

18- cout<<"four";
19- break;

20 case '5':

21- cout<<"five";
22-break;
23-default:

24- cout<<"error";

25- } //end the switch
26- return O0;
27- } // end the main
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1-#include <iostream>

2-using std::cout;
3-using std::endl;

4-int main()
5-{

6- int sum=0;
7- int x=1;



8- while ( x<=10) {
9- sum =sum+x;
10- X=X+1;

11- } /77 end while
12- cout << "The sum is: " << sum << endl;
13- return O;

14- } 7/ end function main
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The total 1s :385

#include <iostream>

using std::cout;
using std::endl;

int main()
int y; // declare y
int x = 1; // initialize x
int total = 0; // initialize total

while ( x <= 10 ) { // loop 10 times

y = X * X; // perform calculation
cout << y << endl; // output result
total += y; // add y to total
++X; // increment counter X

} /77 end while
cout << "Total is " << total << endl; // display result
return O; // indicate successful termination

} 7/ end function main

aan) (gl ddany ¥ oalipall (o (5 il Gl (3alat 3 jaa // Aedle 2ay Al Clidadl) ; adaaDle
Lt Y dgil) adaa DUl 228 ke ) (K3 Ailud) g all 8 adaiill s38 Cania g




Cagalis s laa Jgos 52 5 a3 Jall ) gan3 Gl ) g glad o) el (601 J) ) 138 S0 Ui g LS
Al el o) aalall Luall b 4ila)

il q@t}eM\QAwybwuwq@e}gﬁwtwe\m;@uﬁmsjg_

Enter base as an integer:

v

Enter exponent as an integer
Y

Power =9
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Enter base as an integer:

v
Enter exponent as

Y
Power =9

an integer

#include <iostream>

using std::cout;
using std::cin;
using std::endl;

int main ()

{

int x; //
int y; //
int i; //

int power; //

i=1; //
power = 1; //

cout << "Enter

cin >> x;

cout << "Enter
cin >> vy;

base

exponent

counts from 1 to y

used to calculate x raised to power y

initialize 1 to begin counting from 1
initialize power

base as an integer: "; // prompt for base
// input base

A\

exponent as an integer: ;
// input exponent

// count from 1 to y and multiply power by x each time

while ( 1 <=y
power *= x;
++1;

} // end while

) A

cout <<"power="<<power<< endl; // display result

: sl




return 0;

} // end function main
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#include <iostream>

using std::cout;
using std::cin;
using std::endl;

int main ()

{
Float grade, total=0,avg;
int count=1;

While (count<=500)
{

cout<<"please enter the grade";
cin>>grade;

while (grade<0 || grade>100)
{

Cout<<"sorry you enter invalid grade, enter grade 0-100;
Cin>>grade;

} //second while

total+=grade;
count++;

}//first while



avg=total/500;
Cout<<"the avg is "<<avg;

} // end function main
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#include <iostream>
using std::cout;

using std::cin;
using std::endl;

int main ()

{
Float grade, total=0, avg;
int count=0;

cout<<"please enter the student grade(enter -1 to end)";
cin>>grade;

while (grade!=-1)
{

while (grade<0 || grade>100)
{

Cout<<"sorry you enter invalid grade, enter grade 0-100;
Cin>>grade;

} //second while

total+=grade;

count++;

cout<<"please enter the student grade(enter -1 to end)";
cin>>grade;
}//first while
Arg=total/count;
Cout<<"the avg is "<<avg;

} // end function main

B
eled) callay g A5G o) (A Sla a pasiiall JAay (o) 2aaa jue Sl SN J) gl 138 8 oD
G )

; ey V- s Jy JUaal pasiosall (go el all allas Aol (A edli ) (ne @3
@l V- oa Yl e all Jlaal e aasial) (S0 13 Cayes 35 HLEY] Ulea Ui zali
GAUJJ\gﬁigu} \-gji%gi;)lnLﬁiﬁ\ikug;kl)@ﬁﬁjtli;)dﬂgﬁﬁ\dp‘ééingﬁc
s giall dgdany



e 1580 O 130k oo sl AT aliny V- J Ay 355 ) (S ¥ O - U yial
Do t_ﬂAJﬂ\u,m.a

Cod Aa ol o) (e SUL whille I o2 gl a5t Ul ds 3 padieall Jan o) ay
while J) &l el Jan V- K8 11, Jas giall ey g i jull cady V- il 13l Y-
J2al g Vv edn )l ) e U 30 A58 while J) dala da & e V)
Jial aadiiall (e allay s while ) dals gl jall aa 3Uaill 138 = A 4 jo aodil)
2aa g ?Uﬂ\)ﬁuﬂcount CU&‘}!L&: Mduﬁ.h\} i count J sals s

La count J) Laa g WS 22wl 2aay (63 58 addiiall g 2aaa e 2a=l) () Sl daid

oY daus siall luad count ) Aad zbias Wl calial 3l cila jall ae 2S48 jeae a5 LY
totald (e 4:11{: S Q\AJJ\ &}AM\AJJQ ‘_Ar_ Q\AJJ\ g s o oJL.\.c .Lu.n)ld\
Lz g oy count J) (e Waxe

cout<<"please enter the student grade(enter -1 to end)";
cin>>grade;
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cout<<"please enter the student grade(enter -1 to end)";
cin>>grade;
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Questionl: write a program that reads integers and determine whether it is odd or
even. (Hint: use the modulus operator .an even number is a multiple of two. any
multiple of two leaves a reminder of zero when divide by 2).

Make sure to make this program for non fix number.

e axiiall JAdy s se ds.géj‘u:\m et Juaals a iy CHJ) ‘ude\q;:uh Cub).a PRy d\}...%\
> e )y dall 8 claclual 94 andinl :adaadla) (2 g o) a8 aad) IS dasty el nll o g
(1 a iy B G Y e iy

AS13 ala 3 Sl sl adaa Sl 53

#include <iostream.h >
int main ()

{
char flag=y
int number ;

while(flag!=n)
{

cout << " please enter the number : " ;
cin >>number ;

if (number % 2 ==0)
cout <<" \n The number is even " ;

else (number % 2 ==1)
cout << "\n The number is odd " ;

cout<<"do u want to check another number,y=yes,n=no"<<end1l;
cin>>flag;

while(flag!=y && flag !=n)
{
cout<<"sorry rong command";
cout<<"do u want to check another number,y=yes,n=no"<<end1,
cin>>flag;

}




return O ;

}
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for (initial value ; condition ; increment or decrement)
{ your statment}
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#include <iostream>

using std::cout;
using std::endl;

int main()

{

for ( int counter = 1; counter <= 10; counter++ )
cout << counter << endl;

return O;
3
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for (int counter = 1; counter <= 10; counter++ )
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#include <iostream>

using std::cout;
using std::endl;

int main()
{float total=0,max=0,min=100,avg;
for ( int counter = 1; counter <= 100; counter++ )
{ cout << "enter the grade" << endl;
cin>>grade;
total=total+grade;
iT(grade>max)
{ max=grade;}

If(grade<min)
{min=grade;}



}
Avg=total/100;

Cout>>"the average is '>>avg>>end;
Cout>>""the maximum grade is''>>max>>endl;
Cout>>""the minimum grade is''>>min>>endl;

return O;
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#include <iostream>

using std::cout;
using std::endl;

int mainQ)
int sum = 0;
for ( int number = 2; number <= 100; number += 2 )
sum += number;

cout << "'Sum is " << sum << endl;

return O;
}
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